
　反射テスト　割合　百分率％　00　基礎
1. 　次の 　　 をうめよ.（ S級 7秒, A級 12秒, B級 20秒, C級 30秒 ）

（1）　Aの 1％ = A × 　 （2）　Aの 4％ = A × 　

（3）　Aの 26％ = A × 　 （4）　Aの 51％ = A × 　

2. 　次の 　　 をうめよ.（ S級 5秒, A級 8秒, B級 15秒, C級 25秒 ）

（1）　A × 0.01 = A の 　 ％ （2）　A × 0.08 = A の 　 ％

（3）　A × 0.42 = A の 　 ％ （4）　A × 0.77 = A の 　 ％

c⃝ 数学・算数を楽しむために（ http : //www.enjoymath.sakura.ne.jp/index.html ）　

http://www.enjoymath.sakura.ne.jp/index.html


3. 　次の 　　 をうめよ.（ S級 7秒, A級 12秒, B級 20秒, C級 30秒 ）

（1）　Aの 2％ = A × 　 （2）　Aの 9％ = A × 　

（3）　Aの 17％ = A × 　 （4）　Aの 35％ = A × 　

4. 　次の 　　 をうめよ.（ S級 5秒, A級 8秒, B級 15秒, C級 25秒 ）

（1）　A × 0.03 = A の 　 ％ （2）　A × 0.06 = A の 　 ％

（3）　A × 0.29 = A の 　 ％ （4）　A × 0.83 = A の 　 ％

c⃝ 数学・算数を楽しむために（ http : //www.enjoymath.sakura.ne.jp/index.html ）　

http://www.enjoymath.sakura.ne.jp/index.html


　反射テスト　割合　百分率％　00　基礎　解答解説
1. 　次の 　　 をうめよ.（ S級 7秒, A級 12秒, B級 20秒, C級 30秒 ）

★ 1％ =
1

100

（1）　Aの 1％ = A × 0.01

1÷ 100 = 0.01

（2）　Aの 4％ = A × 0.04

4÷ 100 = 0.04

（3）　Aの 26％ = A × 0.26

26÷ 100 = 0.26

（4）　Aの 51％ = A × 0.51

51÷ 100 = 0.51

2. 　次の 　　 をうめよ.（ S級 5秒, A級 8秒, B級 15秒, C級 25秒 ）

（1）　A × 0.01 = A の 1 ％

0.01× 100 = 1

（2）　A × 0.08 = A の 8 ％

0.08× 100 = 8

（3）　A × 0.42 = A の 42 ％

0.42× 100 = 42

（4）　A × 0.77 = A の 77 ％

0.77× 100 = 77

c⃝ 数学・算数を楽しむために（ http : //www.enjoymath.sakura.ne.jp/index.html ）　

http://www.enjoymath.sakura.ne.jp/index.html


3. 　次の 　　 をうめよ.（ S級 7秒, A級 12秒, B級 20秒, C級 30秒 ）

（1）　Aの 2％ = A × 0.02

2÷ 100 = 0.02

（2）　Aの 9％ = A × 0.09

4÷ 100 = 0.04

（3）　Aの 17％ = A × 0.17

17÷ 100 = 0.17

（4）　Aの 35％ = A × 0.35

35÷ 100 = 0.35

4. 　次の 　　 をうめよ.（ S級 5秒, A級 8秒, B級 15秒, C級 25秒 ）

（1）　A × 0.03 = A の 3 ％

0.03× 100 = 3

（2）　A × 0.06 = A の 6 ％

0.06× 100 = 6

（3）　A × 0.29 = A の 29 ％

0.29× 100 = 29

（4）　A × 0.83 = A の 83 ％

0.83× 100 = 83

c⃝ 数学・算数を楽しむために（ http : //www.enjoymath.sakura.ne.jp/index.html ）　

http://www.enjoymath.sakura.ne.jp/index.html

